Ll

6
14138

ENLEHEX
WEAE R

heELT
2ihigt

:H:‘lﬁléi&
=

EEERRR

Hiwi

SE it Bi
E 3 X &

:itﬂ'lﬁﬂ% 7
Hﬂ'léiﬂ

:1t1ﬁliﬂ.'. ; :Itﬁ'lﬁﬂ%

E%i px  PATEBE AT

LEEER

Hﬁﬂ%tﬁ‘.

SEENIE
2ibig

:H:ﬂ'l%iﬁ

£
A 90% || E | 50%
B | 80% || F | 40%
C | 70% || G| 30% = | *
D | 60% !

14137 74139

EEH 6
(Eiﬂ%)

74138

fE

P
3 - \.
! 70 70E
e |
. a 69€ i
\\
I g ;g\b\\’ij L’4‘;4 L L
T T \\/ _ — >
T T ~ ) ) ~ —— —
oo :’:’\mﬁ::\\\\\\\\\” e — e Y c— % 73E lLzHREAER I
e ﬁﬁ*lﬁ#\ —— D P
T 4 e  ——————e
117 2 == =
i L e [ —
61E H \ ‘ —7
(?E r 59E 62E , ) ,///
66E I m il \ // /
=] 63E m | /L
a i s Jlg
P\



